Subject Verb Agreement
Practice Set-1

For each of the following, choose the sentence in which the subject and verb
agree.

1.

A) Every one of the shirts has a green collar.

B) Every one of the shirts have a green collar.

2.

A) This singer, along with a few others, play the harmonica on stage.
B) This singer, along with a few others, plays the harmonica on stage.
3.

A) Sandals and towels are essential gear for a trip to the beach.

B) Sandals and towels is essential gear for a trip to the beach.

4.

A) The president or the vice president are speaking today.
B) The president or the vice president is speaking today.

5.
A) Either Cassie or Marie pays the employees this afternoon.
B) Either Cassie or Marie pay the employees this afternoon.

6.

A) Either the sculpture or the paintings are in the museum today.
B) Either the sculpture or the paintings is in the museum today.
7.

A) The coat or the hats are in that closet.
B) The coat or the hats is in that closet.

8.

A) Neither she nor I is getting the lunch special.
B) Neither she nor I am getting the lunch special.
C)  Neither she nor I are getting the lunch special.



A)
B)

10.

A)
B)

11.

A)
B)

12.

A)
B)

13.

A)
B)

14.

A)
B)

15.

A)
B)

16.

A)
B)

17.

A)
B)

18.

A)

Each of the dancers twirls brilliantly.
Each of the dancers twirl brilliantly.

Mustard greens are my favorite vegetable.
Mustard greens is my favorite vegetable.

Everybody at the party was enjoying the food.
Everybody at the party were enjoying the food.

More than half of the basketball court is used for volleyball practice.
More than half of the basketball court are used for volleyball practice..

Some of the potatoes is salted.
Some of the potatoes are salted.

Either of the classic cars is for sale.
Either of the classic cars are for sale.

A limousine and driver is in the driveway.
A limousine and driver are in the driveway.

Neither my radio nor my television is working.
Neither my radio nor my television are working.

Six dollars is too much to pay for a gumdrop.
Six dollars are too much to pay for a gumdrop.

The weather in the Western states are cold sometimes..



B)

19.

A)
B)

20.

A)
B)

The weather in the Western states is cold sometimes.

The water polo team have won the state championship for the second time.
The water polo team has won the state championship for the second time.

That skier is one of those who compete nationally.
That skier is one of those who competes nationally.

Link: https://www.grammarbook.com/grammar_quiz/subject verb agreement 1.asp



